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- 383,378 241,078 142,300
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- 383,378 241,078 142,300
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12 JIEH2 43 167,300 25,000 142,300
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svyensEs 209,979 288,554 A78,575
201 YEr2 | 151,979 160,554 £8,575
02 3324l 63,879 72,454 A 8,575
O A2 2W3 1,000,000 1,000 2,000 A1,000
O ERYFANES(EZIB)RNLS
15,525,000 15,505 17,250 A1,725
O C2Yx4 228 HUTH JAN2AY R
RS 10,000,000 10,000 1,000 A1,000
O 2ABABSESHAAL (HWSWRX B2
bl 17,994,000 7,994 20,000 £2,006
O ASHEH HLZM 19,360,000 19,360 22,204 ~2,844
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O 20199 & EAIRHY =02x=3 A TA
gte 8,400& 9 0 9
O 20198 & JIIZAAHSEMRANE =0EXS
S &oh 9l O KHoH B 4,593,830& 4,594 0 4,594
O 20198 & MHESAKNIEA 20DE2X3
&Ho BH 48,010 49 0 49




